3. T7 -S54 7)LILat60R s (AR60)

SEL-| B & i 1 2 3 4 5 6 =1 Bz | &
17 | 58|&F Fiff |hRX® 102.6 | 99.3 |101.4 |101.6 |100.8 |102.0 607.7 1

4. 7 -S5A7IKFILE60F B (ARGOW)

SEL-] B f# i 1 2 3 4 5 6 =1 Bz | 18
17 | 59|7B8 £ |mdexkeiz| 99.4 (1010 99.8| 96.9| 98.6 | 96.2 591.9 2

18 | 41[RIR ¥t  [ss=sizaxe(102.7 [100.8 | 98.2 [100.2 |101.4 [100.6 603.9 1

18 | 26[85K KXFE  |wwsrsrany-rns| 98.7] 96.1 | 98.3 [ 940 96.6 [ 95.1 578.8 3
5. RE—ILART - 21)—547)L{K5160F Hi £ (FR60PR)
SEL-] B & i 1 2 3 4 5 6 =1 Bz | 18
17 | 31|hig &2 |BA~zaom| 90| 93| 91| 90| 92| 94 550 3

20 | 11/ B |BEx 93] 92| 90| 92| 94| o1 552 2

21 | 24|85K RE |LBEZE 94| 91| 86| 91| 92| 90 544 4

19 | 20[E% % HR [FHEEi 95| 97| 95| 91| 95| 96 569 1




7. T7—EXFIL60FEER (AP60)

SEL-| B & i 1 2 3 4 5 6 =1 G| &8 &
26 | 8K FEHE |BEX 87| 92| 93| 88| 88| 88 536 4
28 | oMl & wpmsonsene| 84| 86| 84| 79| 89| 90 512 8
29 | 75|5Ek E  |BER 91| 90| 94| 90| 91| 88 544 3

2-29| 79|H E ¥t |BER 85| 91| 89| 88 87| 86 526 7
27 | 34|k 3E BEx 91 94| 89| 95[ 90 90 549 1
25 | MEHF BX  |REX 85| 90| 86| 94| 85| o1 531 5

2-28| 80|fipIll /FE] |RER 93| 86| 87| 87| ot 85 529 6

2-27| 81| H K1 |BE® 75| 81| 84| 78| 89| 78 485 10
30 [ 2|hH S |AEIE@D | 91 95| 90| 90| 89| o1 546 2
21 | 23[E%H D sRTesZes| 83| 83 93] 79| 84| 87 509 9

8. T7—ERNIVEE X F60F i (AP 60W)

SE-N K £ i B 1 2 3 4 5 6 it |IERL| B *E
24| 16|1cRE 5 |RER 94 94| 93| 90 92| 95 558 1| KR=#ECEE
22| 82|fRH fhEF |BEm 88| 78| 79| 76| 87| 76 484 4
19| 19|4&7% BREEKXE 84| 84] 88| 94 92| 92 534 2
23| 40|88 = KXEZE 87| 94/ 88/ 85| 83 84 521 3

10. 7542V ELFILE60F R H (AR6OWJ)

FElL-V] B £ i B 1 2 3 4 5 6 =X G| 8 &
20 | 4|BER BERLYD |maremsss|101.3 | 99.7 [101.6 [100.3 [103.8 [102.4 609.1 1




11. E—=L-547)L) 5 BFIL560F R (BR60J)

SEL-| B & i 1 2 3 4 5 6 =1 IBfz | i
118|H £ BiE  |rasmrrunnsas=s| 98.3 [102.5] 957 [ 97.4 | 89.9 [100.3 584.1 1
137|688 (53 |mBa%54%(88.3 | 909 88.0| 84.1] 935 91.8 536.6 6
121458 K |sesmsumseas=z] 91.1 | 954 90.2| 91.8| 920 | 944 554.9 4
11580 B [seosrusmissen DNS
1203587 % sssxeunsenssn] 93.0 | 86.6 | 92.9| 958 | 91.6 | 91.3 551.2 5
122|B18 BH  |swsrrusmrasss| 99.5 | 99.5 | 953 | 93.0 | 93.6 [ 920 572.9 2
M9 EK = wasmrsumsasses] 90.2 | 90.3 ] 99.7] 92.7] 95.2 | 90.5 558.6 3
123[#F BFH  |swxsrrumsessee] 915 | 71.3] 788 | 755 ] 91.3 | 82.4 490.8 7
106|7E KIF  |oomcummisssn DNS
105|257k 1% FASEAPUBRLES S DNS

12. E—L -S54 2L & F 31 51605 5% H (BR60WJ)

SEL-| B & i 1 2 3 4 5 6 =1 IBfL | i
112|[FH & wasmxeummisses| 102.4 [101.6 [102.7 | 98.0 [103.7 [102.0 610.4 5
135| 52 B8 |mBa%54%(104.0 [102.7 |100.3 [101.1 |[102.1 [ 99.5 609.7 6
17D RIK  |rasmrsusmeass:|102.4 [102.4 |103.0 [103.3 |102.5 [101.0 614.6 3
133|+2 BA |FmBa%534%(102.6 [103.1 |103.5 | 97.9 [102.5 (101.3 610.9 4
114|# [ FE  [sessxsumsessez| 96.5 | 94.8 [100.0 | 98.1 [ 97.0 | 99.2 585.6 7
132|F /5 mibe S 4% | 105.5 [103.9 [103.7 [103.5 [105.2 |103.6 625.4 1
104/{EBE B [rersumsesses| 97.9 | 94.7 [ 985 | 953 | 96.5 | 98.5 581.4 8
131158k i BB %54 |104.4 (1035 |101.8 [103.2 |[102.5 (102.8 618.2 2

13. E—LERMLAE B T60H 5 (BP60MJ)

FElL-V] B £ i B 1 2 3 4 5 6 Bt | B | &
23| EE D KRIEBEER DNS

14. E—LERMLDFELF605ERE (BP6OWJ)

FElL-V] B £ i B 1 2 3 4 5 6 A5t | B | &
116[78 HE [rwowouwsssss| 78| 74| 80| 66| 72| 80 450 3
134 B8 B |mB=%E+k| 86| 89| 92| 91| 87| 93 538 1
38|HkFH LEY |wmmszes| 82| 75| 93| 86| 88| 83 507 2




6. RE—ILART -2)—547I)L3EF60FK a1 (FR3 X 20)

s | B & | BB K P S lastlet| s
i lat[ 2]t 1]2]s

BEBFRE—IRT-2)—547)L3R 60 E (FR3 X 20M)

22| 29|FE &= |BAELaY | 92| 86[178] 96] 95| 191 87| 82| 169| 538] 2

17 | 58|&F FIBR [k 92| 91| 183| 99| 98| 197 89| 87| 176/ 556 1
BRELXFRE—IRT - 2)—547)L3RS60F R E (FR3 X 20W)

14| 3[FfTER HAOF|uwesoonsmua| 96[ 91[ 187[ 98| 95| 193] 85| 82| 167| 547| 2

16| 28|&48 (15 |s#wmepmzzs| 97| 96| 193] 96| 97| 193] 86| 89| 175] 561 1




